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Let’s go back in time to December 2001. 

 

Chicago braces blizzard conditions as a major winter storm makes its way to the Great 

Lakes region. The city has put out all its snowplows and garbage trucks to push away 

the snow which ____(1)____ to amount to a meter by nightfall. Old people are 

advised____(2)____ out of doors unless it is absolutely necessary. “The temperatures 

at the moment are too risky for them ____(3)____ outside even for a short time. 

Therefore, we will be catering for the elderly ____(4)____ the cold front has moved out 

of the region.,” said the Mayor. There are more than 3000 snowbound school children 

who are trying to get back home at this hour. Roads on their way might already 

____(5)____ by snow. 

 

Freezing rain iced highways in the state of Illinois and this resulted ____(6)____ 

hundreds of traffic accidents. Highway patrol has issued a warning that cars without 

chains____(7)____ to go on the highways. Upon reports of an accident at Midway 

airport early this morning, Chicago Aviation Commissioner Thomas Walker told CNN “It 

was at O'Hare International Airport ____(8)____ an airplane slid off an icy runway 

shortly after landing, not at Midway.” Both the accident and the storm conditions had 

disrupted the air traffic. Right now, all 300 pieces of snow-removal equipment at the two 

airports ____(9)____ and air traffic appears ____(10)____ smoothly. 

 

1) a) expects b) is expecting c) has expected d) is expected 
2) a) not going b) not to go c) going d) to go 
3) a) staying b) stay c) to stay d) for staying 
4) a) once b) until c) as soon as d) when 
5) a) have been closed b) be closing c) close d) have closed 
6) a) from b) by c) in d) of 
7) a) not allowed b) won’t allow them c) not allow them d) won’t be allowed 
8) a) where b) when c) that d) which 
9) a) are using b) are being used c) being used d) which are being used 
10) a) to be flowing b) having flowed c) to have flowed d) flowing 
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 ANSWER KEY 1d 2b 3c 4b 5a 6c 7d 8c 9b 10a 


